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<font size=3>how the valves input control signal</font><br/><font size=-3>Posted by
haoyunlaiol9 - 2014/04/01 14:33</font><br/><font
size=-3>_____________________________________</font><br/><font size=-1><br/>The
pneumatic actuator ball valve input pressure is the "control signal." This can come from a
variety of measuring devices, and each different pressure is a different set point for a valve. A
typical standard signal is 20�100 kPa. For example, a valve could be controlling the pressure in
a vessel which has a constant out-flow, and a varied in-flow (varied by the actuator and valve).
A pressure transmitter will monitor the pressure in the vessel and transmit a signal from 20�100
kPa. 20 kPa means there is no pressure, 100 kPa means there is full range pressure (can be
varied by the transmiters calibration points). As the pressure rises in the vessel, the output of
the transmitter rises, this increase in pressure is sent to the valve, which causes the valve to
stroke downard, and start closing the valve, decreasing flow into the vessel, reducing the
pressure in the vessel as excess pressure is evacuated through the out flow. This is called a
direct acting process.</font><br/><font
size=-3><br/>==============================================================
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